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EDUCATION
( General )

Paper : 5.2
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following/Fill in the blanks/Write
True or False : 1x10=10

oo fraaee ey frar/a@ o1 R w/vE A
Ry fors

fa) “Measurement is the assignment of
numerals to objects or events according
to rules.” Who gave this definition?

“or R 3 e PR e iR
SR M 341 PR Rl I =1 =1
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(2)

(b) “Educational achievement tests are

designed to measure knowledge,
understanding and the skills in specific
subject or group of subjects.” Who gave
this definition?
“ren o1 Rewm R w1 e Rwe
el o, QM o el AR A oS
T worwR O el w8 IR @
= 1”7 % RH! R oA R 2

() Write any one characteristic of
evaluation.

o R e @b cafiEy

(d) Find out the mean from the following
scores :

S AP AT G e
20, 30, 35, 40, 25, 30, 20
(e) Physical measurement is objective.
( True or False )

CEIfS =if{emet 3gfd 1
(o% @oT )

(0 Range is one of the measures of central
tendency.
( True or False )
PR X' (FEW oRTeR Ry CaY o
(v8 @y )

20A/134 ( Continued )



(3)

(g) Reliability is always situation specific.
( True or False )

fRSacanerer T ~AfR{ES e |
(% T oR8% )

(h) The first step in constructing a test is
to the test.

( Fill in the blank )
O AR e o CarR WereR
1 |

( < 32 R F)

(i) Physical measurement is more accurate
than measurement.

( Fill in the blank )
CSifes «ifRmel _____ ~iRererels wike [RYe |
( A A [ M)

() Achievement tests are broadly classified
as standardized and test.

( Fill in the blank )

el SErEPTEEE ITed AfSNAge S
__ =S foene cfiRee F |
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2. Answer the following briefly :

(4)

oS AT S e faa

(a)

Write any two characteristics of
measurement.

sifRareR R e o1 ¢y o o

(b) Write two  differences  between
measurement and evaluation.
SR S JARE TS Yo =1 foran o

() Mention two disadvantages of objective-
type test.
T2S S&rwR 701 SPIRY SraEy F0

(d) What is error in measurement?
R & o 2

(e) Write the formula to calculate median
from grouped data.
RS AR o1 T4 el 391 7t o o

3. Answer any four of the following :
o faeaed R e siReR Tes fian
(@) Write briefly five functions of

(b)

20A/134

educational measurement.

tofiee {fRIeR <551 PR TR e |

Write briefly on validity of a test.
<51 SOHIR (I ol TS o |
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{c)

(@)

(e)

(b)
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(5

Write a note on essay-tyg)e teacher-
made test.

fres-ffife v <SR R 9B1 G
o

Discuss about formative and summative
evaluation.

W O RS TR Re e
I .

Write briefly on cumulative record card.

R ST i Foled B o o

Write the advantages of measures of
central tendency.

T 2RTel #IReR R for |

What is evaluation? Discuss the basic
principles of evaluation. 4+6=10

T 7 TReR (AR TR e
sall '

Or / 933

What are the different steps of test
construction? Write five differences
between general test and standardized
test. S5+5=10
sorw R Rfea TR B B2 Mare
O F AfONAFS STOrHR WSS AP 755!
o123 a1 |
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(6)

5. (a) What is objective-type test? Discuss the
uses of educational achievement test in
educational evaluation. 5+5=10

e worE 7 Feeee e ovae
OIS ArwPTeR SSrwE  SolCafael SCEsH
sl

Or / 91

(bp) What is new trend in evaluation?
Discuss about grading system. 10

RS T4 4 7 afR @i s
SICATSAT 47 |

6. (a) What is frequency polygon? Draw a
polygon from the following table : 2+8=10

RIS I2g% 9 To eI o[ 7o
b1 SIEPT  :

cI f
(13} =) (IR
- 55-59
50-54
45-49
40-44
35-39
30-34
25-29
20-24
15-19
10-14

prory
N\l@-hw'-'w
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(7)

-Or / 91

(b) .Find out the mean by short method
from the following table : 10

Co SR <R Y TGS 16 Bfened

cr i
(9% wr59r=) (F3"=)
90-94
85-89
80-84
75-79
70-74
65-69
60-64
55-59
50-54
4549
4044

NP OZONOON

N =66
7. (a) What is median? Find out the median
from the following data : 3+7=10
T 2 SR SR oR—1 Ty ey 40

cr f
(e w537) (I[7@"er)
55-59
50-54
45-49
4044
35-39
30-34
25-29
2024
15-19
10-14

NOO QN B W~
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2
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(8)

Or / 9|11

(b) Calculate the standard deviation-from
the following table :

T Ifeei o[ e Rpifs e

cI
(4R w&Tr)

20A—25*/134

90-94
85-89
80-84
75~79
70-74
65-69
60-64
55-59
50-54
45-49
40-44
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